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Planta Escada-1 - Térreo
Corte A-A

Corte B-B COMPRIMENTO
TOTALUNIT

POS BIT QUANTAÇO

mm cm cm

Planta Escada-1 - Térreo
     50A   1       8     7     377    2639
     50A   2       8     8     343    2744
     50A   4     6.3    16     131    2096
     50A   5       8     8     354    2832
     50A   6       8     7     365    2555
     50A   7       8    16     127    2032
     50A   8       8    18     131    2358

COMPR PESOBITAÇO
RESUMO DE AÇO

mm m kgf
     21        5    6.3     50A
    152       60      8     50A

Peso Total        50A =       65 kgf


